
Comparison of Device Level & System Level ESD Specifications 

2000V HBM is 1.3 Amps peak and about 150 ns wide. 

How does the IEC ESD stress levels differ? 

2000V CDM is 2 to 5 Amps peak (depending on package) and 1 ns wide. 

8000V IEC is 30 Amps peak, 1 ns wide plus a secondary 
pulse of 16 Amps peak, about 50 ns wide. 

Comparing CDM, HBM, and ESD Waveforms 
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• For HBM/MM, the discharge current 
through an IC can flow between ANY two 
pins 

 

 

 

 

 

 

• For CDM, the discharge current moving 
charge on/off an IC can flow from ANY pin 
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